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Dividing with Multiples of Ten Name:

Solve each problem. Answers
1) 720+90=_ 1
2) 31+3= 2
3 1,801+ 60= 3
4 83+2=

4,
5 54,003+90= 5
6) 200+ 40= o 6
7) 151+3= 7
8) 724+8= 8
9 2000+500=_ 9

10) 161+8= 10

11) 20,002 + 40 = 11

12) 54,000+6,000= 12

13) 1,400+200=_ 13

14) 2,400 + 600 = o 14

15) 36,002 + 400 = 15

16) 6,300+700=_ 16.

17) 8,000+8,000=_ 17

18) 3,001+5= 18,

19) 30,005 + 500 = 10.

20) 45,000+5000=_ 20.
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Dividing with Multiples of Ten Name. Answer Key
Solve each problem. Answers
1) 720+90= 8 1 8
2) 31+3= 10r1 , 10r1
3) 1,801+60= 30rl . 30r1
4 83+2= 40r3 4 40r3
5) 54,003+90= 600r3 s 600r3
6) 200-40= 5 6 5
7) 151+3= 50rl . 50r1
8 724+8= 90r4 8. 90r4
9 2,000+500=_ 4 o 4
10) 161+8= 20r1 0. 20rl
11) 20,002+40= 50012 1. 500r2
12) 54,000+ 6,000=__ 9 12 9
13) 1,400+200= 7 13. /
14) 2400+ 600= 4 " 4
15 36,002+400= 90r2 1. 90r2
16) 6,300+ 700= 9 16. 9
17) 8,000+8,000= 1 17. 1
18) 3001+5= 600rl 8. 600r1
19) 30,005+500= 60r5 19 60r5
20) 45,000+ 5,000= 9 20. 9
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
) 270+30= .
2) 123+3= ,
3 2,000+2,000=_ ;
4 6,000+3,00=_ .
5 1,200+200=_ :
6) 2,402+ 8= 3
7) 800+ 80= ;
8 6,300+900=_ .
9 10,001 + 500 = o

10) 2,400+800=_ 0

11) 140+20=_ u

12) 18,000+9,000= o

13) 541+9= .

14) 61+6= u

15 5,001+50= 5

16) 180+60=_ "

17) 56,002+ 8= .

18) 3,004+ 5= "

19) 1,800+200=_ N

20) 304+5= 0

[ Math Y commoncorssnesscon 2 1120 a8l a0 [ s 0 55 20 15 10T 5 | 0




=

Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 270-30= 9 9
1.
2 ~ 3=
3) 2000+2,000= 1 1
3,
4) 6,000+3,000= 2 5
4.
5 1,200+200= 6 6
5.
6 - g=
) 2,402+ 8 300r2 . 30012
7 - =
8 6,300+900= 7 7
8.
9 - =
10) 2400+800= 3 10 3
11) 140+20= 7 " 7
12) 18,000+9,000= 2 " 2
13) 541+9= 60r1 1 60r1
14) 61+-6= 10rl 1 10r1
15) 5001+50= 100rl 15 100r1
16) 180+60= 3 6 3
17) 56,002 +~8= 70002 17 7000712
18) 3.004+5= 600r4 18, 600r4
19) 1,800+200= 9 19 9
20) 304+-5= 60r4 20 60 r4
1-10 [95]90[ 8580 75] 70| 65] 60] 55 | 50
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
1) 10,000+2,000= .
2 12,000+6,000= ,
3 1,201+ 6= ;
4) 14,003+ 20= .
5 12,000+2,000= :
6) 1,600+200=_ 3
) 204+ 4= ;
8 1,800+600= .
9 35000+7000=__ o

10) 300+60=_ 0

1) 121+6= u

12) 1504+ 3= o

13) 485+ 6= .

14) 18,000+2000=_ y

15) 56,005+ 8= 5

16) 1,201+ 2= 6

17) 3,001+ 6= -

18) 181+9= -

19) 6,300+700=_ N

20) 540+90=__ 0
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ﬂh Dividing with Multiples of Ten

Name:

Answer Key

Solve each problem.

1) 10,000+2,000=_ 5

2) 12,000+ 6,000=_ 2

3 1,201+6=_200r1
4 14,003+20= 70013

5 12,000+2000=_ 6

6) 1,600+200=_ 8

7) 204+4= 50r4

8 1,800+600=_ 3

9 35,000+7000=_5

10) 300+60=_ 5

1) 121+6= 20r1
12) 1,504+3= 500r4
13) 485+6= 80r5

14) 18,000+ 2,000= 9

15 56,005+ 8= 700015
16) 1,201+2= 600rl
17) 3,001+6= 500r1
18) 181+9= 20r1

19) 6,300+700=_ 9

20) 540+90= 6

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

5

2

200r1

/70013

20rl1

200r4

80r5

9

700015

60011

500r1

20r1

9

6
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Dividing with Multiples of Ten

Name:

Solve each problem.

1) 2,400 + 300 =

2) 3203+8=

3) 2,400 + 600 =

4) 360+ 40=

5 403+8=

6) 3,200 + 400 =

) 7,001+7=
8) 204+4=

9 300+ 300 =

10) 24,003+ 60=

11) 100+50=

12) 1801+6=
13) 565+ 8=

14) 18,000 + 6,000 =

15) 280+ 70=

16) 15,000 + 3,000 =

17) 3,600+ 900 =

18) 48,000 + 8,000 =

19) 24,007 + 30 =

20) 353+5=

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 2400+300= 8 8
1
2 -~ Q=
) 3,203+ 8 400r3 5 400r3
3) 2400+600= 4 4
3,
4 360+-40= 9 9
4,
5 -~ Q=
) 403+8= 50r3 5, 50r3
6) 3200+-400= 8 8
6.
7 =~ 7=
) 7,001+7= 1000r1 7 1000 r1
8 ~ A=
) 204+4= 5014 8 50r4
9) 300+-300= 1 1
9,
10) 24,003+60= 400r3 10. 400r3
11) 100+50= 2 11 2
12) 1801+6= 300rl 12 300r1
13) 565+-8= 70r5 13 70 r5
14) 18,000+ 6,000= 3 14 3
15 280+70= 4 15 4
16) 15,000+ 3,000= 5 16 5
17) 3600+900= 4 17 4
18) 48,000 + 8,000 = 6 18 6
19) 24,007+30= 800r7 19. 800r7
20) 353+5= 70r3 20 70 r3
110 |95]90]85]80]75] 70| 65| 60] 55| 50
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Dividing with Multiples of Ten

Name:

Solve each problem.
D 121+2=
2) 42,002+ 700 =
3 630+ 70=
4) 280+ 40=
5 120+60=
6) 200+ 40=

7) 32,000 + 8,000 =

8) 280+ 70=

9 8001+2=

10) 24,000 + 3,000 =

1) 102+2=
12) 63,002+ 7=
13) 1,800+ 200 =

14 4200+700=
15 3,003+60=

16) 10,001 + 500 =

17) 5600+700=_
18) 1,801+ 6=

19) 7,201 +90=

20) 12,000 + 3,000 =

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Dividing with Multiples of Ten

Name:

Answer Key

Solve each problem.

) 121+2= 60rl
2) 42,002+700=_60r2

3 630+70=__ 9

4 280+40= 7

5 120+60=_ 2

6) 200+40=_ 5

7) 32,000+8,000=_4

8 280+70=_4

9 8,001+2= 4000rl

10) 24,000+3,000=_ 8

11) 102+2= 5012
12) 63,002+ 7= 9000r2

13) 1,800+200=_ 9

14) 4200+700= 6

15) 3,003+60= 50r3
16) 10,001+500= 20rl

17) 5600+700=_ 8

18) 1,801+6= 300r1
19) 7.201+90= 80r1l

20) 12,000+3,000=_ 4

9.

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

60rl

60r2

9

4000r1

8

50r2

9000r2

9

6

50r3

20rl1

300r1

80rl1
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
1) 4800+800= .
2) 54,003 + 600 = ,
3 56,000+8,000=_ ;
4 270+90=_

4,
5 120+40=__ :
6 180+90=_ 3
7) 24,004+ 400 = ;
8) 72,004 + 800 = .
9 1,800+900=_ o

10) 30,004 + 500 = 0

11) 1,500+500=_ "

12) 241+8= "

13) 2,000+500=_ "

14) 2701+9= u

15 3201+8= 5

16) 3,000+ 3= "

17 543+ 6= 17.

18) 28,000+7,000= N

19 61+2= 10.

20) 1,800+300=_ 20,
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 4800+800= 6 6
1.
2) = =
54,003 + 600 90r3 ” 90r3
3) 56,000+ 8,000= 7
3, 7
4) - =
270+ 90 3 n 3
5) = =
120+ 40=_ 3 5, 3
6) - =
180 + 90 2 6. 2
7) = =
24,004 =+ 400 60 r4 - 60r4
8) = =
72,004+800=_ 90r4 8 90r4
9 1,800+900= 2 2
9.
10) 30,004 +500= 6014 0 60r4
ovTE 10.
11) 1500+500= 3 11 3
12) 241+8= 30rl 5 30rl
A 12.
13) 2000+500= 4 13 4
14) 2,701 +9= 300rl 14 300r1
15) 3201+8= 400rl1 5. 400r1l
16) 3,000+3= 1000r0 6. 1000r0
17) 543+6= 90r3 17 90r3
18) 28,000+ 7,000= 4 18 4
19) 61+2= 30r1 19 30rl
20) 1,800+300= 6 20 6
110 [95]90[85] 80 75] 70] 65] 60| 55] 50
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
1) 1,504+ 3= 1
2) 2103+ 3= 2
3 280+70=__ 3
4 3600+400=_ 4
5 21+2= 5
6) 54,007 = 60 = 6
7) 12,000 + 6,000 = o 7
8) 48,002+ 6= 8
9) 487+6= 9

10) 3205+4= 10

11) 4500+900=_ 1

12) 18,000+3,000=_ 12,

13) 80+40=_ 13

14) 630+90=_ 14

15) 4,003+ 8= 15

16) 35,003+ 7 = 16.

17) 2,800+700=_ 17

18) 28,000+7,000= 18,

19) 402+ 8= 19.

20) 15,000+ 3,000= 20.
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 1,504+3=_500r4 500r4
1.
2) ~3=
2,103+ 3 70013 . 70013
3) = =
280+ 70 4 3 4
4) 3600+400= 9
a. 9
5) ~ 2=
21+2= 10rl 5, 10r1
6) +60=
54,007 + 60 900 r7 6 900r7
7) 12,000+ 6,000= 2
7. 2
8) ~6=
48,002+ 6= 8000r2 8 8000r2
9) ~6=
487+6= 80r7 o 80r7
10) 3205+4= 800r5 o 800r5
VIO 10.
11) 4500+900= 5 11 o
12) 18,000+3,000= 6 12 6
13) 80+40= 2 13 2
14) 630+90= 7 14 !
15) 4,003+8= 50013 5. 500r3
16) 35,003+ 7= 5000r3 6. 5000r3
17) 2,800+700= 4 17 4
18) 28,000 + 7,000 = 4 18 4
19) 402+8= 50r2 19 50r2
20) 15,000 - 3,000 = 5 20 5
1-10 [95]90]85]80[75] 70] 6560 55| 50
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
) 362+4= .
2) 601+2= 5
3 6,000+3,000=_ 3
4 350+70=

4,
5 181+6= 5
6) 48,002 + 600 = 6
7) 365+4= 7
8 2,104+3= 8
9 5600+800=_ 9

10) 21,002 + 700 = 10

11) 30,000+5,000=_ 11

12) 70+ 7= 12

13) 63,002+ 70= 13

14) 8,000+2,000=_ 14

15 320+80= 15

16) 3,000+500=_ 16.

17) 320+80=__ 17

18) 5405+ 90 = 18,

19) 4,005+ 50 = 10,

20) 3500+500=_ 20.
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) ~ 4=
362+4=_90r2 1 9q0r2
2 2=
3 6,000+3,000= 2
3 2
4) - =
350+ 70 5 n )
5) ~6=
181+6= 30rl 5 30r1
6) - =
48,002+ 600= 80r2 6 80r2
7) -4 =
365+4= 90r5 - 90r5
8 ~ 3=
) 210432 7004 . 70014
9 5600+800= 7
9 7
10) = =
21,002+ 700= 30r2 10, 30r2
11) 30,000+5,000= 6 6
11.
12 ~7=
) 70+7= 10r0 12 10r0
13 - =
) 63,002+70= 9002 13 900r2
14) 8,000+2,000= 4 4
14,
15 320+80= 4 4
15,
16) 3,000+500= 6 6
16.
17) 320+80= 4 4
17.
18 = =
) 5405+90= 6015 18, 60r5
19 - =
) 4005+50= 80r5 19 80r5
20) 3500+500= 7 7
20.
1-10 [95] 90 8580 75] 70] 65] 60| 55| 50
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
) 210+30= .
2 35000+7,000=_ ,
3 124+2= ;
4 400+400= .
5 180+90= :
6) 42,000+6,000=_ 3
7) 72,000+8000=_ ;
8 2,000+2000= .
9 56,004+ 70= o

10) 4,004+ 8= 0

11) 360+40=_ "

12) 1,606+2= »

13) 545+ 6= .

14) 4802+6= u

15 152+5= 5

16) 10,003+ 200 = "

17) 15,001 + 300 = .

18) 802+ 2= "

19) 1,200+600=_ N

20) 1,201+ 6= 20,
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 210+30= 7 7
1.
2) 35000+7,000= 5
2 S
3) 2=
124+ 2 60 r4 3 60r4
4) 400+400= 1
a. 1
5) - =
180+ 90 2 5 2
6) 42,000+ 6,000= 7
6. 7
7) 72,000+8,000= 9
7. 9
8) 2,000+2,000=_ 1 1
8.
9) = =
56,004 +70= 800r4 . 800 r4
10) 4,004+8= 500r4 oo 500r4
V= 10.
11) 360+40= 9 11 9
12) 1,606+2= 800r6 5 800r6
_OMI0 12.
13) 545+-6= 90r5 13 90 r5
14) 4,802+6= 800r2 14 800r2
15 152+5= 30r2 15 30r2
16) 10,003+ 200= 50r3 16 50r3
17) 15,001+300= 50r1 17 50r1
18) 802 =2= 400r2 18 400 r 2
190 1,200+600= 2 19 2
200 1201+6= 200rl o0 200r1
1-10 [95]90[85]80[ 75] 70] 65] 60 55 50
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Dividing with Multiples of Ten Name:

Solve each problem. Answers
1) 484+6= .
2 720-90=_ ,
3 300+3= ;
4 56,000+8,000=_ .
5 5600+700=_ :
6) 2,000+ 20= 3
/) 1500+500=_ ;
8 121+6= .
9 36,000+4,000=__ o

10) 60+60=_ 0

11) 6,001+ 20= "

12) 140+20=_ "

13) 30+3= "

14) 18,005+ 20= u

15 20,000+ 5,000= 5

16) 3,201+ 4= "

17) 300+3= .

18) 3,203+ 40= N

19) 35,004+ 5= N

20) 1,400+200=_ 20,
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Dividing with Multiples of Ten Name: Answer Key
Solve each problem. Answers
1) 484+6=_80r4 80r4
1.
2) = =
720+90=_ 8 2 8
3) ~3=
300+ 3 1000 . 10010
4) 56,000+ 8,000= 7
a 7
5) 5600+700= 8
5. 8
6) - =
2000+20= 10010 < 10010
7) 1500+500= 3
7. 3
8) ~6=
121+6=_20rl 8. 20r1
9) 36,000+4,000= 9 9
9.
10) 60+ 60 = 1 0 1
10.
11) 6,001+20= 300r1 1. 300r1
12) 140+20= 7 2 7
12.
13) 30=-3= 10r0 13 10 I‘O
14) 18,005+20= 9005 u  900r5
15) 20,000+ 5,000= 4 15 4
16) 3201+4= 800rl 6. 800r1
18) 3,203+40= 8013 18 80r3
19) 35,004+ 5= 7000r4 19. 7000r4
20) 1,400+ 200= 7 20 !
1-10195|90|85(80|75|70| 65|60 (55|50
[ Math ] W CommonCoreSheets.com 10 11-20[45[40[35[30]25]20]15]10] 5 | 0




	 1
	Worksheet
	Answer Key

	 2
	Worksheet
	Answer Key

	 3
	Worksheet
	Answer Key

	 4
	Worksheet
	Answer Key

	 5
	Worksheet
	Answer Key

	 6
	Worksheet
	Answer Key

	 7
	Worksheet
	Answer Key

	 8
	Worksheet
	Answer Key

	 9
	Worksheet
	Answer Key

	 10
	Worksheet
	Answer Key


